EXAMINATION DEPARTMENT

Date : SEPT-2018

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	N : 2017-2018 CLASS : BE-0	CS		BRA	NCH	: ENGI	NEERINC	ì			SI	EMESTE	R / TRI	MESTEF	R : N	ONCOL	LEGIA	ΤЕ	MO	ONTH OF EXA	.M : A	UG-2018
		U	HU4	001(3)	MA4	109(3)	MA12	01(4)	CH22	203(3)	BT30	021(3)	MA2	201(4)	CS71	25(3)	CS3	005(3)				
ROLL NO	NAME	L	PE60	009(3)	CS6	109(3)	AM12	01(4)	CS61	07(3)	ME20	001(3)	CS42	205(3)	EC32	01(4)	CS6	101(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
RE/6133/14	Vikash Kumar Singh	U	С	15.0	-	-	-	-	С	15.0	F	0.0	-	-	F	0.0	С	15.0	105.0	27.0	3.89	_
BE/0133/14	Vikasii Kumai Singii	L	-	-	С	15.0	-	-	-	-	С	15.0	С	15.0	-	-	С	15.0	105.0	27.0	3.67	-
BE/6202/14	RAHUL KUMAR	U	-	-	С	15.0	F	0.0	-	-	-	-	F	0.0	-	-	-	-	15.0	14.0	1.07	
BE/0202/14	RAHUL KUWAK	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	13.0	14.0	1.07	-

HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	PE6009(3)	: ENGINEERING ECONOMY	
MA4109(3)	: PROBABILITY STATISTICS &NUMERICAL TECHNIQUES	CS6109(3)	: SOFTWARE ENGINEERING	
MA1201(4)	: ENGINEERING MATHEMATICS	AM1201(4)	: ENGINEERING MECHANICS	
CH2203(3)	: ENVIRONMENTAL SCIENCE	CS6107(3)	: COMPUTER NETWORKS	
BT3021(3)	: BIOLOGICAL SCIENCE	ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CS4205(3)	: DATABASE MANAGEMENT SYSTEMS	
CS7125(3)	: OBJECT ORIENTED ANALYSIS AND DESIGN	EC3201(4)	: DIGITAL ELECTRONICS	
CS3005(3)	: OBJECT ORIENTED PROGRAMMING USING JAVA	CS6101(3)	DESIGN AND ANALYSIS OF COMPUTER ALGORITHMS	

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2018

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	N : 2017-2018	EC		BRA	ANCH :	: ENGIN	IEERIN	G			S	EMESTE	R / TRI	MESTE	R : N	ONCOL	LEGIAT	Œ	MO	NTH OF EXA	M : A	JG-2018
ROLL NO	NAME	U L		201(3) 203(4)		.047(3) 205(3)		203(3) 207(3)	BT30 EC72	201(3)		131(3) 201(4)		201(3) 205(4)	EC32	. ,		001(3) 201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6169/14	VIKAS KUMAR	U	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	-	-	С	15.0	135.0	27.0	5.00	
BE/0109/14	VIKAS KUWAK	L	-	-	С	15.0	-	-	С	15.0	-	-	-	-	-	-	-	-	133.0	27.0	3.00	_

EE6201(3) MEC1047(3) CH2203(3) BT3021(3) MSH1131(3) EC4201(3) EC3205(3) HU4001(3)	CONTROL THEORY SENSORS & TRANSDUCERS ENVIRONMENTAL SCIENCE BIOLOGICAL SCIENCE PRINCIPLES OF MANAGEMENT VLSI DESIGN SEMICONDUCTOR DEVICES FOREIGN LANGUAGE (FRENCH)	EC4203(4) EC4205(3) EC4207(3) EC7201(3) EE2201(4) EE3205(4) MA1201(4) MA2201(4)	: ANALOG COMMUNICATION SYSTEM : MICROPROCESSOR AND MICROCONTROLLER : ELECTROMAGNETIC THEORY : MOBILE AND CELLULAR COMMUNICATION : PRINCIPLES OF ELECTRICAL ENGINEERING : NETWORK THEORY : ENGINEERING MATHEMATICS ADVANCED ENGINEERING MATHEMATICS	Controller of Examinations
--	--	--	--	----------------------------

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2018

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-NONCOLLEGIATE / (MO/18) 2017-2018

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	: 2017-2018 CLASS :	BE-EC		BRA	NCH :	ENGI	NEERIN	G			5	SEMEST	ER / TI	RIMEST	ER :	NONCO	LLEGIA	TE	Mo	ONTH OF EXA	M : A	UG-2018
ROLL NO	NAME	U L		1201(4) 203(4)		401(3) 205(3)		203(3) 207(3)	EC20 EC72	( )		201(4)		203(3) 205(4)	EC32 MA12	( )		001(3) 201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6105/14	SAJJAN KUMAR	U	С	20.0	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	-	-	С	15.0	115.0	23.0	5.00	
DL/01/3/14	SAJJAIV KOWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		113.0	25.0	3.00	_

AM1201(4)	: ENGINEERING MECHANICS	EC4203(4)	: ANALOG COMMUNICATION SYSTEM	
CH1401(3)	: ENGINEERING CHEMISTRY	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER	
CH2203(3)	: ENVIRONMENTAL SCIENCE	EC4207(3)	: ELECTROMAGNETIC THEORY	(I) Agran
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	Jawaey.
EC3201(4)	: DIGITAL ELECTRONICS	EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	
EC3203(3)	: MODERN INSTRUMENTS AND MEASUREMENTS	EE3205(4)	: NETWORK THEORY	Controller of Examinations
EC3205(3)	: SEMICONDUCTOR DEVICES	MA1201(4)	: ENGINEERING MATHEMATICS	
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	MA2201(4)	ADVANCED ENGINEERING MATHEMATICS	

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	: 2017-2018	EΕ		BRA	NCH :	ENGIN	IEERIN	G				SEMEST	ER / TR	IMESTE	R : 1	NONCO	LLEGIA	TE.	M	ONTH OF EXA	AM : A	UG-2018
ROLL NO	NAME	U L		201(4)		201(3)		001(3) 203(3)		201(4) 211(3)		205(4) 217(3)		001(3) 201(4)		401(3) 009(3)		201(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6031/13	ROHIT KUMAR	U	C	20.0	С	20.0	С	15.0	С	20.0	-	-	С	15.0	-	-	С	15.0	140.0	28.0	5.00	
BE/0031/13	ROTH KOMAK	L	C	20.0	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	140.0	28.0	3.00	-
BE/6279/13	SUDHANSHU KUMAR	U	-	-	-	-	-	-	С	20.0	С	20.0	-		С	15.0	-	-	85.0	17.0	5.00	
DE/02/9/13	SUDHANSHU KUWAK	L	-	-	С	15.0	С	15.0	-	-	-	-	-	-	-	-	-	-	83.0	17.0	3.00	-

AM1201(4)	: ENGINEERING MECHANICS	EC3201(4)	: DIGITAL ELECTRONICS	
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EE6203(3)	: POWER SYSTEM - II	,
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	EE7211(3)	: COMPUTER AIDED POWER SYSTEM ANALYSIS	(
EE3205(4)	: NETWORK THEORY	EE8217(3)	: EHV POWER TRANSMISSION	
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	
CH1401(3)	: ENGINEERING CHEMISTRY	PE6009(3)	: ENGINEERING ECONOMY	

EE6201(3)

CONTROL THEORY Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

: MICROPROCESSOR & MICROCONTROLLER

EE5201(3)

### EXAMINATION DEPARTMENT

Date : SEPT-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	I : 2017-2018	1ECH	I	F	BRANCE	I : EN	GINEEI	RING			5	SEMES	TER / T	RIMEST	ER :	NONCO	LLEGL	ATE	MO	ONTH OF EXA	AM : A	UG-2018
		U	CH1	401(3)	CH22	203(3)	HU4	001(3)	EC20	001(3)	EE22	01(4)	MA1	201(4)	MA2	2201(4)	ME3	005(4)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	ME40	003(4)	AM1	201(4)	ME5	005(3)	ME6	003(3)	ME60	05(4)	ME6	007(3)	ME7	327(3)	PE3	001(3)	POINTS	CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6050/14	VAIBHAV ABHISHEK LAKRA	U	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	60.0	12.0	5.00	
BE/0030/14	VAIBIIAV ABIIISIIEK LAKKA	L	С	20.0	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	00.0	12.0	3.00	_
DE/(172/14	DODDI DANIAN	U	С	15.0	F	0.0	C	15.0	C	15.0	F	0.0	С	20.0	-	-	С	20.0	100.0	20.0	2 22	
BE/6173/14	ROBIN RANJAN	L	-	-	-	-	-	-	-	-	-	-	F	0.0	С	15.0	-	-	100.0	30.0	3.33	<b>-</b>

CH1401(3)	: ENGINEERING CHEMISTRY	ME4003(4)	: MECHANICS OF MATERIALS
CH2203(3)	: ENVIRONMENTAL SCIENCE	AM1201(4)	: ENGINEERING MECHANICS
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	ME5005(3)	: DESIGN OF MACHINE ELEMENTS
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	ME6003(3)	: HEAT & MASS TRANSFER
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	ME6005(4)	: DYNAMICS OF MACHINES
MA1201(4)	: ENGINEERING MATHEMATICS	ME6007(3)	: DESIGN OF MECHANICAL SYSTEM
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	ME7327(3)	: MECHANICAL VIBRATION
ME3005(4)	: MECHANICS OF SOLIDS	PE3001(3)	METALLURGY

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

### EXAMINATION DEPARTMENT

Date : SEPT-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	N : 2017-2018 CLASS : BE-M	ИЕС	Н		BRAN	CH :	ENGIN	EERING				SEN	/IESTE	R / TRIN	1ESTEI	R : NO	ONCOI	LEGIAT	Œ	MONTH	OF EXA	M : AUG-2018
ROLL NO	NAME	U L		021(3)		001(3)		301(4) 005(3)		001(3)		201(4) 005(4)	MA1 ME6	201(4) 007(3)		201(4) 327(3)		005(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6017/14	BABLU HANSDA	U	C	15.0	-	-	-	-	C	15.0	-	-	С	20.0	С	20.0	-	-	150.0	30.0	5.00	
BE/001//14	BABLU HANSDA	L	С	20.0	С	15.0	С	15.0	С	15.0	-	-	С	15.0	-		-	-	130.0	30.0	3.00	_
DE/6025/14	NITISH KUMAR GOND	U	-	-	C	15.0	С	20.0	С	15.0	С	20.0	С	20.0	С	20.0	С	20.0	130.0	30.0	4 22	UNFAIR MEANS
BE/6025/14	NITISH KUWAK GOND	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	_	-	-	130.0	30.0	4.33	UNFAIR MEANS

BT3021(3)	: BIOLOGICAL SCIENCE	ME4003(4)	: MECHANICS OF MATERIALS
ME3001(3)	: THERMODYNAMICS	ME4001(3)	: HEAT POWER CONVERSION
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	ME5005(3)	: DESIGN OF MACHINE ELEMENTS
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	ME6003(3)	: HEAT & MASS TRANSFER
EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	ME6005(4)	: DYNAMICS OF MACHINES
MA1201(4)	: ENGINEERING MATHEMATICS	ME6007(3)	: DESIGN OF MECHANICAL SYSTEM
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	ME7327(3)	: MECHANICAL VIBRATION

PE3001(3)

METALLURGY Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

: MECHANICS OF SOLIDS

ME3005(4)

EXAMINATION DEPARTMENT

Date : SEPT-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / (MO/18) 2017-2018

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	N : 2017-2018 CLASS : BE	MECE	I	E	BRANCE	H : EN	GINEE	RING				SEMES	TER / T	RIMEST	ER :	NONCO	DLLEGIA	ATE	Mo	ONTH OF EXA	\М : A	UG-2018
ROLL NO	NAME	U L		PE7011(3) ME7327(3)		ME3003(3) ME7331(3)		ME5005(3) PE3001(3)		ME6007(3) PE4001(3)		ME3001(3) PE5001(3)		ME4001(3) PE6009(3)		ME4003(4) HU4001(3)		03(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6262/13	MUKUL SOY MURUM	U	С	15.0	F	0.0	С	15.0	С	15.0	С	15.0	-	-	С	20.0	-	-	95.0	25.0	3.80	-
		L	F	0.0	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-				

PE7011(3)	: ADVANCED MANUFACTURING PROCESSES	ME7327(3)	: MECHANICAL VIBRATION
ME3003(3)	: FLUID MECHANICS AND HYDRAULICS	ME7331(3)	: REFRIGERATION AND AIR CONDITIONG
ME5005(3)	: DESIGN OF MACHINE ELEMENTS	PE3001(3)	: METALLURGY
ME6007(3)	: DESIGN OF MECHANICAL SYSTEM	PE4001(3)	: MANUFACTURING PROCESS-I
ME3001(3)	: THERMODYNAMICS	PE5001(3)	: MANUFACTURING PROCESS - II
ME4001(3)	: HEAT POWER CONVERSION	PE6009(3)	: ENGINEERING ECONOMY
ME4003(4)	: MECHANICS OF MATERIALS	HU4001(3)	: FOREIGN LANGUAGE (FRENCH)
ME6003(3)	: HEAT & MASS TRANSFER	PH1201(4)	PHYSICS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.